
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th Month, 4th Week, 5th Day Syllabus: Review Test. Syllabus (Fourth week)

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. ___ means to find a number that is nearest to orignal number but not exat.

»»»»ÈÈÈÈììììZZZZÝÝÝÝ°°°°ŠŠŠŠÆÆÆÆŒŒŒŒÛÛÛÛdddd$$$$FFFF,,,,++++°°°°ŠŠŠŠ̂̂̂̂llll™™™™********ppppzzzz{{{{°°°°ŠŠŠŠ!!!!****ÇÇÇÇªªªª°°°°ŠŠŠŠ7777ƒƒƒƒ@@@@****XXXX _______

(a) Decimal Z(gt (b) Fraction Ÿ

(c) Round off özŠ™** (d) Estimation (Î**

ii.  = ___________.

(a) 0.075 (b) 0.072 (c) 0.070 (d) 0.080

iii. 7.78 = ___________.

(a) (b) (c) (d) None Ãð7

iv. 6.03 + 5.56= ___________.

(a) 11.59 (b) 11.34 (c) 11.12 (d) 11.35

v. 8.9 × 100 = ___________.

(a) 89 (b) 890 (c) 8900 (d) 89000

Q.No.1. The mass of 4 boxe of pencils is 1.8 kg. What will be the mass of 2

box? (5)
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